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Note' Thers are three sections of the paper,
, Superintendent wilhin the given tima. No marks will be awarded for cuttin
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‘Wiite the carrect option i.e. A, B, C or D in the

Biclogy (Part —-1l)
Frash / Reappear : . i
A, B.& C. Attempt Sectioh ~ A on the same paper and seturn il lo.the
g, erasing or over wriling. Mobile phane ele. are

llAi:

empty box provided opposile each part,

How many papillae are present on surface of tongue?

A2 o B. 4 C.6
Heamoglobin is a e, . . ) :
A. Metallo protein B. Nucleoprotein - C. Glycoprotein .
Urine formation ocourin ., .............

(A Two step : B. Four step’ C. Three slep
Replication origin in eukarystic celi are .......

ARl . B. 4 C. Many

In male LH stimulaies .................ccoceev.nns o

A.leydencell . B. Sertaliccell ~ - C. Foflicular cell

Which is multinucleated cell?

A. Osteoblast 8: Osteocyte, C. Ostecelast

The mid section of @ bard calied ................ ]

A. Miine ‘ - B. Zline C. 1 band s

Adrenal medtilla basically consist of madified ........ Y

“A. Sympathelic B. Parasympathetic C. Somatic neuron
neuron neuron : '

Nervous syslem is derived of e s

A. Mesoderm 8. Ectoderm C. Endoderm

Trail and error learning error has na role in ........,..........

A lasight B. Imprinting C. Operant

The lurner syndromae is rer:wresenled = 1 TS .

Add +xy - - Bo44 +xx C.45+%

Which ane is responsible for releasing neuratransmitter?

“A.Ca B.K : ' GC.Na
The average glomerator filt.ation rate per minute s ...............

A 12dmb 8. 125m! - C. isoL
Mechanoreceptor detect change in ................

A. Pressur. B. Position .C. Touch
) Thigl-l consist of ...ovvvvn, :

A. Radial ~ B. Ulna ' C. Tibia

The slbp codon is alsa callec ............... . ' -
A. Sensecodon  B.Nonsensecodon ¥ C. Anticadon
The first vaccine is made from ................ . - .
A. Chickenpox . - B.Tetanus G, Cowpox liquid.
Sickle cell anemia is an example of ............... — '
A Aberralion - B. Promoter mutation - C. Fixation
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D. Mast cell _

D. Chondrocyte
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Section “B”
Q.2 Attempt any TEN parts‘*Each part carries equal marks
I Briefly discuss structure of chromosome. -
il Wiite arfhriti's and its sympptoms. _
iii.  List down the effect of hyperthyroidmm _
iv. Write role of microbes in waste treatment?
v. Describe any two evidences of evolution,
- vi. Whatis denitrification?
vii. Discuss synaps and its types.
vili, Name cranial and facial bone?
< iX.  Write note on ureter and urinary bladder'?
x. Discuss aboutinhabin hormone.
xXl.  Define stroke and ifs symptoms.
xil. Write method of gene regulation. -
xiil.  Write function of insulin.

-

Section “C”

Note: Answer any THREE questions, Each question carries equal marks.
Q.3.a. Discuss the process of translation?

b. Function of T3 and T, hormones. ._
Q.4 What is vacclne? Describe its mode of acnon anci various types
Q.5 Explam aboul axna! skeleton
70.6 Write note on any two of the following.
- Various type of muscles.. '
it. Tuberculosis

iit. Down’s syndrome
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